3.2.21

L.O. To add fractions

1. Complete the additions.
Use the bar models to help you.

a)
1 1
— —=
2 B
b)
1 1
— f—=
3 6
c)
2 1
— =
3 6
2. Match the additions thot have the same answer.
3,1 10,1
4 12 12 12
2.1 6,1
3 12 12 12
5 1 9 1
6 12 12+12
1 1 8 1
2 12 12+12




Here are two jugs.

One jug contains % litres of water.
The other jug contﬂins% litres of water.

How many litres of water are there altogether?

a) Complete the calculations.

b) Can you spot any patterns?

EAS T AETh
S*6" R
s* 16" A
576" 3t5°

c¢) What colculation would come next in each set?




